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)THOUGHT OF THE DAY

Nothing is
particularly hard if

you break it down into
small jobs.

—Henry Ford

BEST
THOUGHT
OF THE DAY
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WORD OF THE DAY |

PANDEMONIUM
(NOUN): (Z3mHT): bedlam
Synonyms: chaos, mayhem
Antonyms: silence

Example Sentence:

There was complete
pandemonium here.




WORD OF THE DAY
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QUESIIIGNS
boy regain
consciousness he wanted to

1. When the

eat something.
(1) If the boy regain -
(2) When the boy regainegs
(3) Despite the boy \ 3
(4) On the boy regaining
(5) No change required

(2) when the boy regained is the right
usage.
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2. The social worker wanted to bring
about little changes in the lives of
the people of that village.

(1) to bring back

(2) to bring up

(3) to bring forth

(4) bringing about

(5) No change required

(5) No change required




3. Reghunath proposes to Iay clalm for the
insurance company a soon as he
recovers from the accident.

(1) lay claim to

(2) lay claim on

(3) laying claim towards

(4) lay claim against

(5) No change required

(1) lay claim to is the right usage.
lay claim to (Id.): to state that you have a right
to own something.




4. The new concession announced by
the Government will have only a
marginalised effect on the lives of
the people.

(1) marginal effect of

(2) margin of effect on

(3) marginal effect on

(4) marginalising effect in

(5) No change required

(3) marginal effect on is the
right usage.
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5. The Charitable Hospltal works under
the auspices from Welfare Trust of an
Industry.

(1) under the auspices by

(2) by the auspices from

(3) through the auspices from

(4) under the auspices of

(#) No ghaagteeauisisks of is the right
usage. under the auspices of (Id.):
with the help, support/protection of
somebody/something







6. We are trying to (1)/ find out the root
cause (2)/ of this recurring problem

(3)/ since the last four days. (4)/ No
error (5)

(4) Last four days denotes a
period of time. We use for with

period of time and since with point of
+imaoa



\

7.1 told him bluntly (1)/ that he is a Iazy
fellow (2)/ and that he had done (3)/

his work very badly. (4)/ No errop4as

(2) We know when the Principal Clause
in a sentence (Indirect) is in Past
Tense, the Subordinate Clause
also must be in Past Tense. In
the given sentence | told him
(Principal Clause) is in Past



\

8. Mumbai is full of tall buﬂdmgs (1)/ which
is at once its (2)/ strength as well as
weakness (3)/ depending upon how

(4) One (Subject) is in Third Person
Singular Number. So, with one we
can use looks, does, etc. In the given
sentence one look should be
replaced with one looks.



\

9. | am fuIIy aware that (1)/ my
boss is one of those (2)/ who iIs
totally dedicated (3)/ to work and
proper discipline. (4)/ No errg

(3) When the subject of the Verb is a
Relative Pronoun care should be

taken to see that the Verb agrees In

Number and Person of the
AN mtanadamtE AF tlasn DAlAt v A Dearmarn i




10. Even though | love coffee ‘(A ) |
have chosen to avoid (B.)/ the
beverage because the (C.)/
damage it does to my teeth. (D )
No error (E.) ~

Correct Option: C

The usage of verb ‘because’ is
erroneous in the
fragment and needs to
be replaced with
‘because of’







The World Health Organisation has
confirmed that the Olympic Games ...(1)... to
be held in August ...(2)... Rio de Janeiro will

o ahead, the Zika virus ...(3)... . An
merv\ﬂ_?ncB_ Committee meet_ln% ...(4)... by
the O Director-General said there is “very

low risk” of the virus spreading_globalllg as a
consequence of the Games bein (I )... In
Brazil. The local mosquito population level is
expected to ...(6)... sharply in August, the
Brazilian mid-winter, and the annual infection
rate is expected to peak before that.
Intensive vector-control measures at and
around the venue will reduce ...(7)... risks. It
is possible that a few individuals ...$8)... get
infected and contribute to a global spread
and start ...(9)... a new chain of local
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The World Health Organisation has
confirmed that the Olympic Games ...(1)...
to be held in August ...(2)... Rio de Janeiro
will go ahead, the Zika virus ...(3)... . An
Em%w_lﬁncs Committee meetin% ...(4)... by
the WHO Director-General said there is “very
low risk” of the virus spreading globallg/ as a
gons_?quence of the Games being ...(5)... Iin
razil.

1. (@) scheduled (b) plan qeme
(d) organised (e) probable '0:30

Ans: A



The World Health Organisation has
confirmed that the OIymé)ic Games ...(1)...
to be held in August ...(2)... Rio de Janeiro
will go ahead, the Zika virus ...(3)... . An
Emergency Committee meeting ...§4)... by
the WHO Director-General said there is
“very low risk® of the virus spreading
lobally as a consequence of the Games
eing ...(5)... in Brazil.
2. (a) therewith (b) into (c) at

(d) in (e) on

Ans: D




The World Health Organisation has
confirmed that the OIymfic Games ...(1)...
to be held in August ...(2)... Rio de Janeiro
will go ahead, the Zika virus ...(3)... . An
Emergency Committee meeting ...§4)... by
the WHO Director-General said there is
“very low risk® of the virus spreading
lobally as a consequence of the Games
eing ...(5)... in Brazil.

3._t a talodng with  (b) notwithstaggiag
withstandin
(d) hencefo?th (e) herewith 0:30

Ans: B




The World Health Organisation has confirmed
that the Olympic Games ...(1)... to be held in
August ...(2)... Rio de Janeiro will go ahead,
the Zika virus ...(3)... . An mer%ncg
Committee meeting ...(4)... by the WH

Director-General said there is “very low risk”
of the virus spreading globa y as a
gons_?quence of the Games being ...(5)... in

razil.

fﬁ (a) co?v)enetd (b) call (c) h
ere (e)ou
0:30_

Ans: A




The World Health Organisation has confirmed
that the Olympic Games ...(1)... to be held in
August ...(2)... Rio de Janeiro will go ahead,
the Zika virus ...(3)... . An mer%ncg
Committee meeting ...(4)... by the WH

Director-General said there is “very low risk”
of the virus spreading tgloba y as a
céons_?quence of the Games being ...(5)... In

razil.

(5d)ﬁ<))l glay ©) r(‘t;)ldapprehended en

Ans: E



The local mosquito population level is
expected to ...(6)... sharply in August, the
Brazilian mid-winter, and the annual
infection rate is expected to peak before
that. Intensive vector-control measures at
and around the venue will reduce é?)
risks. It is possible that a few individuals
...(8)... get infected and contribute to a
global spread and start ...(9)... a new
chain of local transmission. But the risk will
be the same as in any country where the
local transmission of the Zika virus is
...(10)... ; it does not get amplified _even
when thousands come togeth
committee has:noted.
6. (@) go (b)drop (c)fell

?e) lean




The local mosquito population level is
expected to ...(6)... sharply in August, the
Brazilian mid-winter, and the annual
infection rate is expected to peak before
that. Intensive vector-control measures at
and around the venue will reduce ...é?)...
risks. It is possible that a few individuals
...(8)... get infected and contribute to a
global spread and start (QB) a new
chain of local transmission. But the risk
will be the same as in anz/ country where
the local transmission of the Zika virus is

...(10)... ; it does not get amplified_ever
when thousands come together, '0:30
committee jasdoted.

7. (a) suspension (b) suspicio
transmission




The local mosquito population level is
expected to ...(6)... sharply in August, the
Brazilian mid-winter, and the annual
infection rate is expected to peak before
that. Intensive vector-control measures at
and around the venue will reduce é?)
risks. It is possible that a few individuals
...(8)... get infected and contribute to a
global spread and start 1]9) a new chain
of local transmission. But the risk will be the
same as in any country where the local
transmission of the Zika virus is ...(10)... ; it

does not get amplified even whengthg ads
come together, as the committee 0:30 }
8. (a) mayns: Ab) might ill

C) ou |
not (e) hence 1) oug




The local mosquito population level is
expected to ...(6)... sharply in August,
the Brazilian mid-winter, and the annual
infection rate is expected to peak
before that. Intensive vector-control
measures at and around the venue will
reduce ...é?)... risks. It is possible that a
few individuals ...(8)... get infected and
contribute to a global spread and start
...(9)... a new chain of Ilocal
transmission. But the risk will be the
same as in any country where the local
tra(r}sor;nissi%nd of trtle tZlka : virus Is
... ; it does not get ampli

when thous#ids come toge h
committee has noted.

9.(@)of (b)off (c)on (d)at (e)






HOME WORK

a) The police tactfully handled /
b) the farmers’ agitation for / c)
higher prices which is created /
d) law and order problem in the
district every year. / €) No error



FANSWERSS
i. The match is startir ng[A]/starts[B] at

2PM today.

i. At last, the girl was cured
offA)/from[B] Malaria.

. We will go there in[A]/at[B] the
noon.

iv. A lot of wood are[A}/is[B] needed to
make the fire.

A) BABB

B) AABB
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